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B.A. (Part - III) (Semester - VI) (CBCS)

Examination, April - 2024

ECONOMICS (DSE-E199)

Research Methodology in Economics-II (Special Paper-XV)

Sub. Code : 75834 / 80134
Day and Date : Monday, 01-04-2024 Total Marks : 40

Time : 02.30 p.m. to 04.30 p.m.

Instruction : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw neat diagram wherever necessary.

Q.1) Choose the correct alternative and rewrite the sentence.
i) Selection of sample by lottery methods is called ..........

a) Simple Random sampling b) Cluster sampling

c) Quota sampling d) None of these

ii) The diagram shows 360 degree is knows as ..........

a) Pie diagram b) Two dimensional diagram

c) Three dimensional diagram d) None of these

         ΣX
iii) a =  ------   is a formula of

          N

a) Median b) Mode

c) Geometrical mean d) Arithmetic mean

iv) .............. is objective of report writing.

a) To increase knowledge b) To make interview

c) Making survey d) None of these

v) The arrangement of data in rows and columns is called .........

a) Frequency distribution b) Cumulative frequency distribution

c) Tabulation d) Classification
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Q.2) Write a short notes. (Any three)

a) Criteria of good sampling

b) Classification of data

c) Steps of report writing

d) Merits of standard deviation

e) Concept of interpretation of data

Q.3) Write detail answers of the following questions. (Any two)

a) State the meaning of sampling. Explain the optimum size of sampling.

b) Define correlation. Explain the importance of correlation technique.

c) What is meant by Graph? Explain the various types of Graph.

_amR>r énm§Va

gyMZm : 1. gd© àíZ Amdí`H$ AmhoV.

2. COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3. Amdí`H$ VoWo gw~H$ AmH¥$Vr H$mT>m.

à.H«$.1.`mo½` n`m©̀  {ZdS>m Am{U dmŠ` nwÝhm {bhm.

i) bm°Q>ar nÕVrZo Z_wZm {ZdS>rg .......... åhUVmV.

A) gmYm `mÑpÀN>H$ Z_wZm ~) ŠbñQ>a Z_wZm

H$) H$moQ>m Z_wZm S>) `mn¡H$s EH$hr Zmhr

ii) 360 A§e Xe©{dUmar AmH¥$Vr åhUOo ........ hmò .

A) {d^m{OV dVw©i ~) {Û{_Vr AmH¥$Vr

H$) {Ì{_Vr AmH¥$Vr S>) `mn¡H$s EH$hr Zmhr

         ΣX

iii) a =  ------   ho gyÌ ............ Mo Amho.
          N

A) _Ü`_m ~) ~hþbH$

H$) ŵ{_Vr _Ü` S>) J{UVr _Ü`
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iv) Ahdmb boIZmMo .......... ho C{Ôï> AgVo.

A) kmZmV ^a Q>mH$Uo ~) _wbmIV KoUo

H$) gd}jU H$aUo S>) `mn¡H$s EH$hr Zmhr

v) AmH$S>odmarg ñV§̂  d n§ŠVr_Ü ò EImÚm H«$_~Õ H$aÊ`mÀ`m ì`dñWog .......... åhUVmV.

A) dma§dmaVm {dVaU ~) g§M`r dma§dmaVm {dVaU

H$) gmaUrH$aU S>) dJuH$aU

à.H«$.2. {Q>nm {bhm. (H$moUË`mhr VrZ)

A) Mm§Jë`m Z_wZm {ZdS>rMo {ZH$f

~) AmH$S>odmarMo dJuH$aU

H$) Ahdmb boIZmMo Q>ßno

S>) à_mU {dMbZmMo \$m`Xo

B) VÏ` {Zd©MZmMr g§H$ënZm

à.H«$.3.Imbrb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUË`mhr XmoZ)

A) Z_wZm {ZdS> nÕVrMm AW© gm§Jm. Z_wZm {ZdS>rMo Bï>V_ AmH$ma_mZ ñnï> H$am.

~) ghg§~§YmMr ì`m»`m Úm. ghg§~§YmMo _hÎd ñnï> H$am.

H$) AmboI åhUOo H$m`? AmboImMo àH$ma {deX H$am.
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Seat

No.

B.A. (PART-III) (SEMESTER-VI) (CBCS)

EXAMINATION, APRIL, 2024

Economics (Compulsory) Special Paper - XVI

History of Economic Thoughts Part - II

Sub. Code : 75835/80135

Day and Date : Tuesday, 02-04-2024      Total Marks : 40

Time : 02.30 p.m. to 04.30 p.m.

Instructions : 1) All questions are compulsory.

2) Neat diagram shoud be drawn where is necessary.

3) Figures to the right indicate full marks.

Q1)   Complete the following sentences by choosing correct alternatives.

1) The concept of elasticity of demand explained by -----

A) Marshall B) Adam Smith

C) Keynes D) Karl Marx

2) Farmer’s Asood is a book written by -----.

A) Mahatma Phule B) Amartya Sen

C) Keynes D) Dr. Babasaheb Ambedkar

3) The concept of building Radhanagari dam was -----.

A) Dr. Ambedkar B) Shahu Maharaj

C) Ranade D) Dr. Babasaheb Ambedkar

4) ----- launched Sarvodaya Yojana.

A) Mahatma Gandhi B) Marshall

C) Ranade D) Dr. Babasaheb Ambedkar

5) ----- propounded the Drain Theory

A) Dadabhai Naoroji B) Prof. Dhananjay Gadgil

C) V.M. Dandekar D) Amartya Sen

[5]
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Q2) Write short notes out of following (Any three).

1) Consumer’s surplus.

2) Importance of decentralization.

3) Concept of social choice.

4) V.M. Dandekar’s Thoughts on poverty.

5) Educational ideas of Mahatma Phule.

Q3) Write short answers (Any two).

1) Elaborate the Dr. Marshall’s theory of value.

2) Explain the Mahatma Gandhi’s basic principles of development.

3) Elaborate the economic views of Amartya Sen.

(_amR>r énm§Va)

gyMZm  : 1) gd© àíZ Amdí`H$ AmhoV.

2) Amdí`H$ VoWo ZrQ>ZoQ>H$s AmH¥$Vr H$mT>mdr.

3) COdrH$S>rb A§H$ JwU Xe©{dVmV.

Q1) Imbrb n¡H$s `mo½` n`m©̀  {ZdSyZ Imbrb {dYmZo nyU© H$am.

1) _mJUrÀ`m bd{MH$VoMr g§H$ënZm  ---- `m§Zr ñnï> H$obr.

A) _me©b B) A°S>_ pñ_W

C) Ho$Ýg D) H$mb© _mŠg©

2) eoVH$è`mMm AmgyS> ho nwñVH$ ----- {b{IV Amho.

A) _hmË_m \w$bo B) A_Ë ©̀ goZ

C) Ho$Ýg D) S>m°. ~m~mgmho~ Am§~oS>H$a

3) amYmZJar YaU ~m§YÊ`mMr g§H$ënZm ----- `m§Mr hmoVr.

A) S>m°. Am§~oS>H$a B) emhÿ _hmamO

C) amZS>o D) S>m°. ~m~mgmho~ Am§~oS>H$a
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4) ----- `m§Zr gdm}X` `moOZm _m§S>br.

A) _hmË_m Jm§Yr B) _me©b

C) amZS>o D) S>m°. ~m~mgmho~ Am§~oS>H$a

5) ----- `m§Zr {ZñgmaUmMm {gÕm§V _m§S>bm.

A) XmXm^mB© Zm¡amoOr B) àm. YZ§O` JmS>Jri

C) {d. _. Xm§S>oH$a D) A_Ë ©̀ goZ

Q2) {Q>nm {bhm. (H$moUË`mhr VrZ)

A) J«mhH$mMo g§Vmof{YŠ`

B) {dH|$ÐrH$aUmMo _hÎd

C) gm_m{OH$ {ZdS>rMr g§H$ënZm.

D) {d. _. Xm§S>oH$a Xm[aX²>«̀  {df`r {dMma

E) _hmË_m \w$bo `m§Mo e¡j{UH$ {dMma

Q3) WmoS>Š`mV CÎmao {bhm (H$moUVrhr XmoZ)

A) S>m°. _me©bMm _yë` {gÕm§V ñnï> H$am.

B) _hmË_m Jm§YtMr {dH$mgmMr _yb ŷV VÎdo ñnï> H$am.

C) A_Ë ©̀ goZ Am{W©H$ {dMma ñnï> H$am.
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Total No. of Pages : 3

Seat

No.

B.A. (PART-III) (SEMESTER-VI) (CBCS) EXAMINATION, MARCH 2024

ECONOMICS

Economics of Planning (DSE-E-197, Special Paper-XIII)

Sub. Code : 75832/80132

Day and Date : Wednesday, 27-03-2024      Total Marks : 40

Time : 02.30 p.m. to 04.30 p.m.

Instructions : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw beautiful diagram wherever necessary.

Q1) Choose the correct option and complete the following statements.

1) This country accepted planning first in the world -----.

A) Russia B) India

B) America D) England

2) - - - - - - Capital is used more than labour in production technique.

A) Capital Intensive B) Labour Intensive

B) Mixed D) None of these

3) Ex-officio Chairman of NITI Aayog is - - - - -

A) Hon. Prime Minister B) Hon. Finance Minister

B) Hon. Planning Minister D) Hon. Defence Minister

4) The period of the Twelfth Five Year Plan was -----.

A) 1951 B) 2012 to 2017

B) 2001 to 2005 D) None of these

5) The First Five Year Plan was based on ----- model.

A) Mahalanobis B) Harrod-Domer

B) Both A and B D) None of these

[5]
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Q2) Write Notes. (Any three)

1) Types of Planning.

2) Project evaluation.

3) Functions of NITI Aayog.

4) Objectives of Indian Planning.

5) Progress of service sector during the planning period.

Q3) Broad Questions (Any two)

1) What is Economics Planning? Explain the conditions of Planning.

2) What is capital output ratio? Explain it’s positive points.

3) Explain the Industrial Development under Planning period.

(_amR>r énm§Va)

Q1) {Xboë`m n`m©̀ m§VyZ `mo½` n`m©̀  {ZdSy>Z {dYmZo nyU© H$am.

1) OJmV {Z`moOZmMm ñdrH$ma gd©àW_ ----- `m XoemZo Ho$bm.

A) a{e`m B) ^maV

B) A_o[aH$m D) B§½b§S>

2) ----- CËnmXZ V§ÌmV l_mÀ`m VwbZoV ^m§S>dbmMm A{YH$ dmna Ho$bm OmVmo.

A) ^m§S>dbàYmZ B) l_àYmZ

C) {_l D) `mn¡H$s EH$hr Zmhr

3) {ZVr Am`moJmMo nX{gÕ AÜ`j ----- AgVmV.

A) _m. n§VàYmZ B) _m. AW©_§Ìr

C) _m. {Z`moOZ_§Ìr D) _m. g§ajU_§Ìr

4) ~mamì`m n§Mdm{f©H$ `moOZoMm H$mbI§S> ----- Agm hmoVm.

A) 1951 B) 2012 Vo 2017

C) 2001 Vo 2005 D) `mn¡H$s EH$hr Zmhr
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5) n{hbr n§Mdm{f©H$ `moOZm ----- àménmda AmYm[aV hmoVr.

A) _hmbZmo~rg B) h°am°S>-S>mo_a

C) A Am{U B XmoÝhr D) `mn¡H$s EH$hr Zmhr

Q2) {Q>nm {bhm. (H$moUË`mhr VrZ)

A) {Z`moOZmMo àH$ma

B) àH$ën _yë`_mnZ

C) {ZVr Am`moJmMr H$m }̀

D) ^maVr` {Z`moOZmMr C[ÔîQ>ço

E) {Z`moOZ H$mimVrb godm joÌmMr àJVr

Q3) {XKm©oÎmar àíZ gmoS>dm (H$moUVohr XmoZ).

A) Am{W©H$ {Z`moOZ åhUOo H$m`? `eñdr {Z`moOZmÀ`m à_wI AQ>r gm§Jm.

B) ^m§S>dbàYmZ CËnmXZ V§Ì åhUOo H$m`? Ë`mÀ`m g_W©ZmMo _wÔo ñnï> H$am.

C) {Z`moOZ H$mimVrb Am¡Úmo{JH$ joÌmMr àJVr ñnï> H$am.
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B.A. (Part-III) (Semester-VI) (CBCS)
Examination, March 2024.

Economics (Paper - XIV) DSE-E-198
INTERNATIONAL ECONOMICS - II

Sub. Code : 75833/80133

Day and Date: Thursday, 28-03-2024 Total Marks: 40
Time: 2.30 p.m. to 4.30 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw a diagram where it is necessary.

gyMZm: 1) gd© àíZ gmoS {dUo Amdí¶H  AmhoV.
2) COdrH S rb A§H  àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H  VoWo gw~H  AmH¥ Ë¶m H mT m.

Q.1 Complete the following statements by choosing correct options. (5)

¶mo½¶ n¶m©¶ {ZdSy Z Imbrb {dYmZo nyU© H am.

1) ..................... are two methods of accounting for the payments and receipts arising

from international transactions.

(A) International balance and National balance

(B) Balance of trade and balance of payments

(C) Regional balance and National balance

(D) Savings account and Current account

Am§Vaamï´ r¶ ì¶dhmamVyZ Or ¶oUr-XoUr {Z‘m©U hmoVmV Ë¶m§Mm {hemo~ R odÊ¶mÀ¶m
.......... ¶m XmoZ nÕVr AmhoV.

(A) Am§Vaamï´ r¶ Vmob d amï´ r¶ Vmob
(B) ì¶mnmaVmob d ì¶dhmaVmob
(C) {d^mJr¶ Vmob d amï´ r¶ Vmob
(D) ~MV ImVo d Mmby ImVo
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2) India's foreign trade deficit is ..............................

(A) increasing (B) decreasing

(C) steady (D) balance

^maVmÀ¶m naH s¶ ì¶mnmamVrb VyQ  ........... Amho.

(A) dmT V (B) KQ V

(C) pñWa (D) g‘Vmob

3) Foreign direct investment is highest in ...................... sector in India.

(A) agriculture (B) industry

(C) trade (D) services

naH s¶ WoQ  Jw§VdUyH  ^maVmVrb ........... joÌmV gdm©{YH  Amho.

(A) H¥ fr (B) CÚmoJ

(C) ì¶mnma (D) godm

4) The headquarters of the World Bank is in ...........................

(A) Washington (B) London

(C) New Delhi (D) Dhaka

OmJ{VH  ~±Ho Mo ‘w»¶mb¶ ............. ¶oWo Amho.

(A) dm°qe½Q Z (B) b§S Z

(C) Zdr {Xëbr (D) T mH m

5) ...................... are the causes of disequilibrium in Balance of Payments.

(A) Inflation (B) Growing population

(C) Deficit finance (D) All of these

......... hr ì¶dhmaVmobmÀ¶m Ag‘VmobmMr H maUo AmhoV.

(A) MbZdmT (B) dmT Vr bmoH g§»¶m

(C) VwQ rMm AW©^aUm (D) darb gd©

2
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Q.2 Write notes. (Any three)    (15)

1) Measures to correct disequilibrium in Balance of Payments.

2) Direction of India's Foreign Trade

3) Types of Foreign Capital

4) Objectives of the International Monetary Fund

5) Balance of Trade.

{Q nm {bhm. (H moUË¶mhr VrZ)   

1) ì¶dhmaVmobmMm Ag‘Vmob Xÿa H aÊ¶mgmR r Cnm¶

2) ^maVmÀ¶m {dXoer ì¶mnmamMr {Xem

3) naH s¶ ^m§S dbmMo àH ma

4) Am§Vaamï´ r¶ ZmUo{ZYrMr C{Ôï o

5) ì¶mnmaVmob

Q.3 Write detailed answer of the following. (Any two)    (20)

1) State the features of Import-Export policy in the year 2014 to 2019.

2) What is Foreign Capital? Explain the need for Foreign Capital.

3) Explain the functions of World Trade Organization.

Imbrbn¡H s Xmohm|Mr g{dñVa CÎmao {bhm.

1) gZ 2014 Vo 2019 À¶m Am¶mV-{Z¶m©V YmoaUmMr d¡{eï o gm§Jm.

2) naH s¶ ^m§S db åhUOo H m¶? naH s¶ ^m§S dbmMr JaO ñnï  H am.

3) OmJ{VH  ì¶mnma g§KQ ZoMr H m¶} {deX H am.

_________

3
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B.A. (Part-III) (Semester-VI) (CBCS)
Examination, March 2024.

Ability Enhancement Compulsory Course (AECC-6)
English for Communication (English Compulsory) (Paper-F)

Sub. Code : 75702/80012

Day and Date: Saturday, 30-03-2024 Total Marks: 40
Time: 02.30 p.m. to 04.30 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 a) Rewrite the following sentences by choosing the correct alternatives
given below. (3)

1) Skavinski was very much accustomed to ...............................

(A) disappointments (B) happiness

(C) rest (D) failure

2) The king promised the ............................... that he would restore his property.

(A) soldier (B) hermit

(C) wounded man (D) none of these

3) The Aboriginals were ............................... and gatherers.

(A) teachers (B) priests

(C) hunters (D) businessmen

b) Answer the following questions in one word or phrase or a sentence each. (3)

1) To whom did the king decide to consult to get answers to his questions?

2) How much does the boy charge for shoe shine?

3) What does the drum symbolize?
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Q.2 a) Answer the following questions in 3-4 sentences each. (2 out of 3) (4)

1) Which jobs did Skavinski undertake?

2) In what way is the boy different from other shoe-shine boys?

3) How does the poetess describe the distorted bodies of the soldiers?

b) Write a short note on the following in about 7-8 sentences. (1 out of 2) (4)

1) The Hermit

2) The Bora Ring ritual

c) Give synonyms of the following words. (2)

1) persecute

2) rags

Q.3 a) Build up a short piece of group discussion on the following topic. (8)

Life without phone

OR

Effects of Television on youth

b) Read the passage given below and make notes using the flow chart method.

(8)

Communication is the process of sending information from one person

to other person. It is useful for sending and receiving messages. It is a two

way means of exchanging information in the form of opinion, views and

ideas between two or more than two persons. The cycle of communication

works with the help of sender, message, coding, channel, decoding, receiver

and feedback. In general, the communication is completed through spoken

and written forms. Sometimes, there is the use of graphical representation in

the process of communication. 

In the cycle of communication, at first, the sender starts conversation.

Further, the sender encodes messages and uses proper channel to send the

2
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message. Here, the sender selects an appropriate channel like letter or email

for sending messages. The selected medium for sending message is important

in the communication. Further, the recipient receives the message and

decodes it. After proper decoding and interpreting the message, the receiver

sends feedback to the sender. When the sender receives the feedback, the

cycle of communication is successfully completed. 

OR

You are planning a family trip to your favourite place. Make notes of

what you must do to get most out of this trip. Use the mind mapping

technique for this purpose. 

Q.4 Imagine yourself as the editor of an English newspaper published from

Maharashtra. Write the concluding remark of the editorial on the death of a famous 

social worker. (8)

OR

You are working with a popular TV news channel in India. Prepare a script in

English for compering a programme on 'Problems and Solutions to Unemployment

in India."

_________

3
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 1) ........... ~mOmamV dñVyÀ¶m qH ‘Vr øm dñVyÀ¶m ‘mJUr nwadR çmÀ¶m g§VwbZmVyZ R aVmV.
  nyU© ñnYm© AnyU© ñnYm©(A) (B) 

  (C) (D) ‘ºo Xmar ¶mn¡H s Zmhr

Q.1) 05Imbrb ¶mo½¶ n¶m©¶ {ZdSy Z dm³¶ nyU© H am. 

‘amR r énm§Va

gyMZm :  gd© àíZ gmoS {dUo Amdí¶H  AmhoV.1)
  Amdí¶H  AmhoV VoWo ZrQ ZoQ Ho  AmH¥ Vr H mT mdr.2)
  COdrH S rb A§H  àíZm§Mo nyU© JwU Xe©{dVmV.3)

  Zâ¶mMm YmoH m nËH aÊ¶mMm {gÕm§V .............. ¶m emókm§Zr ‘m§S bm.2)

  bm°S © Ho Ýg [aH mS m}(A) (B) 

  (C) (D) àmo. hm°bo àm. ZmB©Q 

  Ho ÝgÀ¶m ‘Vo, amoIVoÀ¶m Ë¶mJm~Ôb {Xbm OmUmam ‘mo~Xbm åhUOo ............ hmo¶.3)

  Z’ m ì¶mO(A) (B) 

  (C) (D) doVZ ^m§S db

  ........... ho H m¶Xoera ‘ºo XmarMo CXmhaU Amho.4)

  noQ §Q  aoëdo(A) (B) 

  (C) (D) MhmMo ‘io hdmB© dmhVyH 
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Q.2) 15Q rnm {bhm. (H moUË¶mhr VrZ) 
 1) nyU© ñnY}Mr d¡{eï o.

  ‘yë¶ ^oXmMo àH ma.2)

  {dH« s IM©.3)

  ~Xbr CËnÝZ.4)

  Ano{jV YmoHo  d AZno{jV YmoHo .5)

Q.3) 20Imbrb àým§Mr g{dñVa CÎmao {bhm. (H moUVohr XmoZ)  

 1) ‘ºo Xmar åhUOo H m¶ ho gm§JyZ ‘ºo XmarMr d¡{eï o ñnï  H am.

  Zâ¶mMm A{Z{üVVm nËH aÊ¶mÀ¶m {gÕm§VmMr MMm© H am.2)

  dñVy ôX åhUOo H m¶ Vo gm§JyZ dñVy ^oXmMo àH ma ñnï  H am.3)

  {dH« s IMm©‘wio EHy U IMm©V ........... hmoVo.5)

  KQ  dmT (A) (B) 

  (C) (D) H nmV ¶mn¡H s Zmhr
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